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Chapter 5-- 1-5

1. Draw the logic symbol of the XOR gate
2. 
Construct a truth table for a two in XOR

In
In
Out

0
0
0

1
0
1

0
1
1

1
1
0
3.
T or F. A two in XOR gate produces and output of a logic 1 when both ins are 1

False

4. 
Write the standard Boolean for a 2 in XOR

A + B
5.  What is the final output of the shown circuit?

0

Chapter 6—1-5

1.
Draw the logic symbol for a 2 in XNOR
2. 
Construct a truth table for a 2 in XNOR

In
In
Out

0
0
1


1
0
0


0
1
0


1
1
1
3.
T or F.  If an XNOR has 2 in’s, the output will be a 1 only when both in’s are 1.


False
4.
Write the shorthand Boolean for a XNOR


____

A+B
5.
What is the final output from the drawn circuit?

1
